Ch1-33:

a) Mean =192.57,  Median= 189

b) Mean changes, median doesn’t, new mean= 189.71

c) Trimmed mean=191, we deleted 1 out of  14 = .071429 data points at each end, so the trimming percentage is 7.14%.

d) The sum of the 14 values is [13*EQ \x \to(x)+14th observation]=13*(119.8)+159=1716.4
So the new sample mean is   EQ \x \to(x)= sum/14 = 1716/14 = 122.6

35.  (a) mean=12.55,
median=12.5,
trimmed mean=12.4  (12.5% represents only one value)

(b) we could increase the smallest value by .9 without affecting the median.

57. Mean
12.01, Median
11.35,
trimmed Mean
11.4625

Standard Error
1.388480384


I would say that the mean is fairly representative of this data sample.

41.   
a) 7/10, 
b) EQ \x \to(x) = 7/10 = .7

c) The x here is the sum of successes, n=25. So x=25*(.8)=20. We already have 7, so we need 13 more, out of the next 15 new cars in the experiment.

45. (a),(b),(c)
	xi
	xi-mean
	(xi-mean)^2

	116.4
	0.875
	0.765625
	

	115.9
	0.375
	0.140625
	

	114.6
	-0.925
	0.855625
	

	115.2
	-0.325
	0.105625
	

	mean
	
	Sxx
	s^2

	115.525
	
	1.8675
	0.6225


(d)



	xi
	xi-mean
	(xi-mean)^2

	216.4
	0.875
	0.765625
	

	215.9
	0.375
	0.140625
	

	214.6
	-0.925
	0.855625
	

	 215.2
	-0.325
	0.105625
	

	mean
	
	Sxx
	s^2

	215.525
	
	1.8675
	0.6225


No change in s^2.

47. Mean
116.2, Median
109.5, Standard Deviation
25.75

There is quite a large standard deviation, which explains why the mean and the median are almost 7 units apart. Also since the mean is larger than the median, the are large values, perhaps outliers to the right that make the value of the mean larger.

49.  
	xi
	xi^2
	
	

	2.75
	7.5625
	
	

	2.62
	6.8644
	
	

	2.74
	7.5076
	
	

	3.85
	14.8225
	
	

	2.34
	5.4756
	
	

	2.74
	7.5076
	
	

	3.93
	15.4449
	
	

	4.21
	17.7241
	
	

	3.88
	15.0544
	
	

	4.33
	18.7489
	
	

	3.46
	11.9716
	
	

	4.52
	20.4304
	
	

	2.43
	5.9049
	
	

	3.65
	13.3225
	
	

	2.78
	7.7284
	
	

	3.56
	12.6736
	
	

	3.01
	9.0601
	
	

	sum
	sum
	s^2
	s

	56.80
	197.80
	0.501574
	0.708219


